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Instructions:
EZ4AA:
E 4 MAL:

> Question number 1 to 20 are of short answer type.
E1E20BEYREEE,
E1E20BYREEH,
> Each question carries 10 marks.
BREL109.
BES5109.

1)

A school is organizing an event and needs to arrange chairs in rows and
columns. It has 168 chairs. What is the largest possible number of rows that

can be created such that each row has an equal number of chairs?

—FIEREEB D , UFEBEF FHERTRTMNI . BRAF168FRK T

EAERB-TRTNHENRS  FRXERKSHTERFHERSZDIT?


mac


—FIEFREAR—ED , ARBER THERTRTMI, FREB168KH T

BZFREB-—THTHRENRS , BRZERESAERTHRZ DT ?

6 subtracted from % of a number results in 24, what is the number?

—ERH % B 6 FE 24, EERRESZD?

"/

— M % B L 6 8E 24, INBRZD?

Simplify (52‘20 X (—j)‘”.
1tﬁ§(_§)—20 X (_j)—ZOO

M) 2 x &%


Ada

Ada

Ada


4)

In the given figure, 2AABC is congruent to 4APQR . What is the value for
(m+ 2n + 3p)?

TEFTR , ~AABCEE2PQRE%, 7 (m + 2n + 3p)WBERE ?
TEFR , SABCE52PQR£%, R (M + 2n + 3p)WHERT A ?

A farmer has some chickens and cows. If the total number of heads is 50 and
the total number of legs is 140, how many chickens and cows does the farmer

have respectively?

—BRRE—EHBNY - EHRNFRUERNEHZS0, WAEHZ140 -

a3
P

BRZRRD BB SDEHRNE?

=11}

—BRKE LB - BXGHFRIKEBRISEZS0, HIFNSEZE 140

BIERESHE S DRI



6)

A cow is tied to a pole, fixed to the midpoint of a side of a square field of dimensions
40m X 40m, by means of 14m long rope. Find the area that the cow can graze.

(Remarks: take Pi = 22/7)

—EHW—IR1 4R RAVEG R — R L BRI — R T B40K x40 KN EHFZEH
Hp—{REMNTER - FREBEFIIZRENERS -

(#87E:HYX Pi = 22/7)

—REB—F 1R RNEHR —FME L BREMUT—RTH40K%40KIEFHSFZRE
HAP—FKPNAER - B EBRA4AIZEIERER -

Z3%:HR Pi = 22/7)

—~~

A boy has traveled a distance of 25 km in 4 hours partly on foot at the rate of

3.5 km/hr and partly on bicycle at 9 km/h. Find the distance traveled on foot.

— U BERANFRET250E, Hi |, RSN EF/NRAVERDSIT
DB ER |, WARRONBEF/PNRUBEBETREF TR, FHREXBEIITHE
2o



— U BETAPNRAET250ER, H , RS SN EF/NEAERDSIT

EERE , FUERINES /PR ETRRTIRER, FHRHEZBEHSITHE

How many lead balls of radius 1 cm each can be melted and recast from a

sphere of radius 4 cm?

RBBRIERER B F¥ERIBERNKRETRES DEF TR/ KNS
BK?

ZTBIRES , B —FENERNRETHES DM EEN1ERNH
BK?

A rectangular park has a diagonal pathway that is 13 meters long. If one side
of the park is 5 meters, find the length of the side adjacent to the 5-meter long

side.

—RAFLENHARBEERIIK, RURLENEFERESKER , FREZ
EXRRNENBENRE.



—KAFELENNBLEERIZK, BRUZLENER-LRSKK , FRHZ

ARKNLHBLHKE.

10)

Find the 8th term of the Fibonacci sequence: 1,1, 2, 3, 5, ...
SR BB S E: 1,1,2,3,5, ...
FHRHERBRZHBSIREND: 1,1,2,3,5, ...

11)

Find the equation of the straight line passing through the points A(1,2)and
B(3,6).
HoEoder
FH

R TR,
54Dy

BA1,2) ¥ B3,6)kY

i g
mt (o}

HA(1,2) 1 B(3,6)kY

98 100
100 + 100 ,
The value of—% + 7is

700

98 100

100 + 100
—+ THER o

700



98 100
700 + 100

98
100

+ THER 0

13)
Consider 13 observations in descending order. The mean of 13 observations
is 14. If the mean of the first 7 observations is 16 and the mean of the last 7

observations is 12, what is the 7t observation?

ZR1BEBRAEZNMNINBRIR, E13BREIBRNFHER14, FE7TER
EYRNFHER16, MRRE7TESERIBNFIHER12, FRAF7TEREZIRE

RED?

ZR1BMEARE NN ERIE. X13PMUEKENFIER14. BE7TMN

BHHRENFHER16 , MRE7TMUERENFHER12, HFEE7TNIESSE

=Z1?



14)

A contractor employed 15 laborers at $18 each per day, 10 laborers at $ 15
each per day, 7 laborers at $25 each per day and 4 laborers at $45 each per

day. What is the average wage paid?

—AOEUB RIS ITERB 71568 T A, BRIGNITEREFET108IT A,
BRIV IERFBI7TETANBRMINIERFT48 T A, FRABIAE
REBNFEHIERSD?

—FOEHUABRSIBHN T HBEETISBIA , BRSISHWIHRBETI08TA ,

BRIV IRBEBE T7TETANBRISNIFERIE T4ETA. BFRBIASE

RIRBHNFEHIHRRZD ?

S



15)

According to the following stem-and-leaf diagram, find the median and mode
of the data.

BIFATHRER |, FHH U TBIRN P BMRE

BIEEATTHE |, B E AT BRI A2 AR

Stem | Leaf
L
Fooo

4 135

5 1268

6 |01135
7 |24

16)

In the following figure, 2ABC is congruent to 4XYZ. Find x and y.

RIFTE , ~ABCELAXYZ2 %, Bk XAy,

BIETHE , 2LABCE2XYZEE, HHBExHy,

B 8cm C X



17)
A triangle with sides 5cm, 12cm and 13cm respectively is revolved around the

side that is 12cm long. Find the volume of the solid formed after the revolution.

—Z=ZATN=i2R2BIZ5cm, 12cm # 13cm, IBIE=ZAFARE12 cmiYEHE
H, BREEERFTEAN B EE,

— =AW=k B 25cm, 12cm F 13cm. IBX=ZHBFARE12 cmiYILEE

¥, EHR eSS FT I BBV SR AV TR,

18)

Find the total surface area of a cube with side length 6 cm.
ARH-EBRAERNIFBNEREER.
AR ERAINEFBHNEREEE.



19)

Find the value of (256)°-75,
I H(256)0 TSV BB,
B H(256)0 5K BB,

In a parallelogram ABCD, diagonal AC is 34 m and the perpendicular distance
of AC from either vertices B or D is 12 m. What is the area of the
parallelogram?

FEFITHMEFABCD , $AFRACK34K , HACEIBES DM EEERIR 12K,
R FTEEENEERTE?

FEFATMAFABCD , SHALKACK34K , HACEIBHDHEEEEHER 12X,

FRZFATELENERRTA?

END OF PAPER



